Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY

Diploma Semester -IIT Examination January- 2010

Subject code: 335304 Subject Name: Reproduction method
Date: 21/01/2010 Time: 11.00 am — 1.30 pm
Total Marks: 70
Instructions:
1. Attempt all questions.
2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. English version is Authentic
Q.1 What is Letterpress printing ? Write the principle. Draw the diagram of
Type & write about its parts.
Q.2 (@) What is Offset Printing ? Write the principle & process with the
sketch.
(b)  Write the method of Intaglio printing with the diagram.
OR
(b)  What is Rotary press printing ? Write with sketch.
Q.3
(@)  Write short note about Composing stick. Draw neat diagram.
(b)  Explain how to tie a Type form.
OR
Q.3 (@) What are spacing materials ?
(b)  What is Silk screen printing ? Write in detail .

Q4
(@) How to lock up a Type form ?
(b)  How to distribute the Type ?
OR
Q.4 (a) Whatis Lithography ? Who found out Lithography ?What is the
principle ?

(b)  Draw the proofreader’s mark :-
1. Defective letter 2.Turn over 3. Push down space 4.Less space
5. Lower case letter. 6. Insert space. 7.Comma.
Q.5
. What is Printing ?
. How to make proof of Type form ?
. What is galley ?
. What is nick ?
. What is kern letter ?
. What is Point system ?
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OR
Q.5 (a) 1. What are the three basic requirements for Screen printing ?

2.Is it necessary to reverse the design to be printed by the Lithography.

3. Write the different surface materials useful for Screen printing ?
(b) Define Any four: Pica, Lead, Quad, Serif, Squeeze.
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